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Guess Paper – 2009

Class – XII
Subject –   ACCOUNTANCY

    MM 80                                                                                                           TIME 3Hrs
General Instructions :—

1.
All questions are compulsory.

2.
This question paper contains two part A & B.

3.
Marks are indicate every question.

4.
All parts of the questions should be attempted at one place
PART A

1. State any two items that appears in the debit Side of partner’s capital Account when the capital is Fixed.                                                                                                              1
2. How is Donations dealt while preparing the financial statement of a not –for-profit organization?                                                                                                                  1
3. What is Pro rata allotment of shares?                                                                             1
4.  Raja and Rama are partners in afirm sharing profit and loss in the ratio of 5:3.Rani is admitted for 1/5 share in the profit which he acquires in the ratio of 3:2. Ascertain the sacrificing ratio of the old partners.                                                                              1
5. Why are assets and liabilities revalued at the time of retirement of a partner.             1
6. Milky Ltd purchased Assets of Silky Ltd for RS 320000.A sum of Rs 130000 was paid in cash and Rs 170000 equity shares were issued towards the full settlement of the balance. Pass journal entries in the books of Purchasing Company.                                         3
7. Show how will you deal with the following items in respect of a Social Club for the year ending on 31st March 2006                                                                                                3
Tournament Fund Balance as on 31st march 2005                        Rs72000

Grant towards tournament received during the year                     Rs 20000

Expenditure incurred during the year on conducting tournament Rs 45000

Tournament fund investment                                                         Rs 30000

Interest received on the tournament fund investment                    Rs 3000

8.  On 1st july 1999 X Ltd. Issued 2,000, 12% debentures of Rs 100 each at par repayable at 5% premium at any time after 3 years. Holders of these debentures have the option to convert their debentures into equity share of Rs 10 at a premium of Rs.2.50 with in three years. At the end of 3rd year, holders of 1,500 debentures opted for conversion and the remaining were paid in cash. Make entries for redemption of debentures                           3                                                                                                                                                                                                   
9. A and B carried on business in partnership since 2004 sharing profit and loss in the ratio of 2:1. They admitted C on 1st April 2007 for 1/6th share. The actual value of goodwill, however, on that date was Rs 36000.C contributed the following assets towards payment of his capital and goodwill. 
                            Cash           Rs 4000

                            Furniture    Rs 10000

                            Stock          Rs 12000

Pass necessary journal entries to give effect to the above. Also, give the new profit sharing  

Ratio.                                                                                                                                      4

10. Dinesh and Suraj are partners sharing profit and loss in the ratio of 3:2 with capital of Rs 400000 and Rs 300000 respectively. Interest on capital agreed at 6%p.a.Suraj is allowed a salary of Rs 3000 per month. During 2006 profit prior to Interest and salary amounts to Rs 232000.Manager is to be allowed a commission of 10% of the profit. 

Prepare an account showing the allocation of the profit.                                                       4

11. Rolta Ltd forfeited 500 equity shares of Rs 10 each issued at a premium of 10%{payable on allotment} for non payment of first call of Rs 2 and Final call of Rs 3 per share on 31st march 2004.300 forfeited shares were reissued as fully paid of Rs 8 per share and balance shares were reissued at Rs 11 per share. Journalise.                                             4
12.   a) A company issued 12% debentures of Rs 100 each for Rs 80000 at a discount of 3% redeemable after 4 Years at a premium of !0%. Pass necessary journal entries for the issue of debentures.

b) At the commencement of 2006 ,a company has outstanding 20000, 13% debentures of Rs  

100 each. As per the term of redemption of 5000 debentures are to be redeemed in 2006 

either by purchase from open market or drawing at lot. Directors decides to purchase 1500 

own debentures at Rs 95 and 2500 debentures at Rs 98 for immediate cancellation.Asuming 

that sufficient amount was available in Debenture Redemption Reserve Pass journal entries 

for redemption of debentures.                                                                           (2+4)

13. P,Q and  R were partners in a firm sharing profit and loss in the ratio 3:2:1.Their particulars as on 31st March 2006 was as follows                                                              6

Capital = P- 20000,Q-30000 R- 15000.

Reserve Rs 36000

Goodwill –Rs 30000

Drawing P-Rs 6000;Q-Rs 4000 and R Rs 3000
               On  1st July 2006 Q died . As per the terms of deed Executors of deceased partners entitled 

for the following

a) Interest on capital @10% till the date of death.

b) His share of goodwill.

c) Share of profit till the date as per the profit average profit of last 3 years.

Profit for last 3 years was as 2004- Rs 20000, 2005 –Rs 32000 and 2006 Rs 38000.

Q’s Executors were paid RS 8000 immediately and remaining amount was transferred to his executors loan Account.
14. From the following information, Receipt and Payment Account of Jain Society prepare Income and Expenditure Account for the year ending 31st march 2004 and Balance Sheet as on that date.                                                                                                                       6
	Receipt
	Amount
	Payment
	Amount

	To  balance b/d

To Subscription

To sale of Investment

To Sale of old furniture

   (Book value Rs 400)

To Donation
	12600

16000
3600
300
2500
	By Salaries

By Rent

By Stationery

By Defense Bond

By Furniture purchased

By balance c/d


	4100

1200

500

6000

800

22400

	
	35000
	
	35000


                    Additional information
a) Subscription of Rs 2400 is outstanding and Advance for 2005 Rs 1200 as on 31st  

                     march 2004.

                     b)   Donation received during the year is for construction of Temple

c) Furniture and investment as on 1st April 2003 was Rs 2000 and Rs 14000 respectively.

15. . Geeta Ltd issued 10,000 shares of Rs 50 each payable Rs 10 on application ,Rs 15 on allotment Rs 25 on first call and final call. In all 16,000 application were received, out of these application for ,4000 shares were rejected and allotment was made to the rest on pro rata basis. Every share holder paid the money as and when due , except Sohan who was allotted 4000 shares and who did not paid allotment money. His shares were forfeited after allotment .Final call was made after the forfeiture Forfeited shares were reissued for Rs.35 per share as Rs.40 paid up .Give Journal Entries and prepare cash book.





                              OR                        

K limited has been registered with an authorized capital of Rs. 2,00,000 divided into 2,000 shares of Rs. 100 each of which 1,000 shares were offered for public subscription at a premium of Rs.5 share, payable as under 

                                On application



     10



      On allotment                                                   25 (including premium)



      On first, call



       
     40



      On final, call                                                   balance

                 Applications were received for 1,800 shares, of which applications for 300 shares   

                    were rejected outright, the rest of applications were allotted 1,000 shares on pro-rata  

                    basis. Excess Application money was transferred to allotment,



     All the monies were duly received except from Sundar, holder of 100 shares, who  

                    failed to pay allotment and first call money. His shares were later forfeited and reissued 

                    to Shyam at Rs.60 per share, Rs 70 paid up. Final call has not been made. Pass 

                    necessary Cash Book and Journal entries in the books of K limited.

16. A and B are partners sharing Profit and loss in the ratio of 5:3. On March 31st 2004 their Balance Sheet was as follows:                                                                                                                                                              

	Liabilities
	Amounts.
	Assets
	Amount

	Capital

A                                 36000

B                                  44000

Creditors                                                 

Bills Payable

General Reserve


	80000

64000

22000

14000
	Cash

Bills Receivable

Stock

Debtors

Machinery

Investment
	18000

14000

44000

42000

42000

20000

	
	180000
	
	180000


They decided to admit C into the partnership on the following terms

i. Machinery is to be depreciated by 10%

ii. Stock is revalued at Rs 60000

iii. Investments are taken over by B at Rs 18000

iv. Outstanding rent is Rs 1000

v. C is to bring Rs 6000 as Goodwill and sufficient capital for a 2/5th share in the total capital of the firm.

 Prepare Revaluation A/c, Partners Capital A/c and Balance Sheet of the new firm.
                                                            OR

Following is the balance Sheet X , Y, and Z as on 31st March 2004 Who were sharing profit and loss in the ratio of their Capitals.                                                                     8

	Liabilities
	Rs
	Assets
	Rs

	Creditors

Bills Payable
Provision for doubtful debt
General Reserve

Capital Account

                              X

                              Y

                               Z
	40,000

12000
6000
24000

80,000

80,000

40,000
	Cash

Debtors            
Stock

Furniture

Machinery


	36000
50000

36000

60,000

100,000



	
	282000
	
	282000


Y retires on the above date on the following terms:

i. Provision for doubtful debts raised to Rs 8000

i. Outstanding claim for damages of Rs 2200 is to be provided.

ii. Creditors be reduced by Rs 12000

iii. Goodwill of the firm is valued at Rs 40000.

After the retirement of Y the entire capital of the firm was fixed at Rs 180000 and partners decided to maintain it in their new profit sharing ratio of 3:2. 
Prepare Revaluation A/c, Capital A/c and balance sheet of X and Y.


                          PART B (ANALYSIS OF FINANCIAL STATEMENT)
17. State with reason whether the operating ratio of a company will increase ,decrease or not change due to  payment of wages.                                                                      1

18. How do we treat payment of interest and dividend while preparing cash flow statement.1

19. State the purpose of preparing cash flow Statement                                                        1

20. Discuss the advantages of Analysis of financial Statement .                                          3

21.   Prepare a Common Size Income Statement from the following                                3
	Gross Sales

Sales Return

Cost of goods sold

Operating Expanses

Income Tax
	2000
	2001

	
	120200

20200

40% of net sales
15000

50%
	135800

5800

50% of net sale
14000

50%


22. Calculate Return on Investment and Earning Per Share from the following information                            
	Equity Shares (30000 shares@ Rs 10 each)
9% Preference Shares

Security Premium

General Reserve
10% Debentures
Other Current Assets

Operating Expenses
Cost of Goods Sold
Net Sales

Interest

Income Tax
	300000

400000

30000

10000
200000
110000

25000
30000
220000
20000
50%


    23.  From the following particulars , calculate
(a) Cash flow from Operating  Activities

(b) Cash flow from Investing  Activities      

(c) Cash flow from Financing Activ

	
	31.03.2002
	31.03.2003

	Profit and loss A|C
	30,000
	35,000

	Proposed Dividends
	2,000
	   2,500

	General Reserve
	10,000
	15,000

	Provision for Taxation
	7,000
	  8,000

	Provision for Depreciation on Machinery
	30,000
	35,000

	Outstanding Expenses
	5,000
	  3,000

	Share capital
	2,50,000
	2,90,000

	Goodwill
	20,000
	10,000

	Investment (long term)
	20,00,00
	3,00,000

	Sundry Debtors.
	40,000
	35,000

	Investment ( short term
	15,000
	18,000

	Cash 
	20,000
	22,000


Additional Information :-A  part of the Machinery costing Rs. 12,000 having book value of Rs. 9000 was sold for  Rs. 12,000 during 2002-03.                                  
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General Instructions

1. Answers to questions carrying 1 mark may be from one word to one sentence.

2. Answer to questions carrying 3 Marks may be from 50 to 75 words.

3. Answer to questions carrying 4-5 marks may be about 150 words

4. Answer to questions carrying 6 marks may be about 200 words.

5. Attempt all parts of a question together.

1. Who are considered to be operative management in an organisation?                     1

2. How Management is based on practice and creativity.                                           1

3. “He/She keeps machines, materials, tools etc. ready for operation by concerned workers”. Whose work is described by this sentence under functional foremanship?                 1

4. Which principle of Taylor suggests that the job performed should be based on scientific inquiry and not on intuition?                                                                                    1

5. Despite of a good plan manager finds that initiative taken by his subordinate is reduced in the work. What can be the possible reason?                                                               1

6. What do you mean by Procedure?                                                                              1

7. A manager decides to develop a better organizational climate to motivate its workers. What steps he has to take?                                                                                                    1

8. An organisation wants to go for a major change in production technique. What role a leader has to play in this regard.                                                                                              1

9. What is the main Aim of “Prevention of Food Adulteration Act 1954?”                      1

10. List the name of any two NGOs engaged in the protecting and promoting consumers interest.1                                                                                                                            

11. Why managers in Analyzing Deviations should use Critical point control and Management by exception?                                                                                                                  3

12. “Primary aim of financial management is to maximize shareholder’s wealth” Justify    3  

13. Why Capital Budgeting Decision is considered as crucial decision for a company.        3

14.  Distinguish between ‘Primary’ and ‘secondary’ Markets on the basis of Sale of Securities, Capital formation and Determination of price.                                                                  3

15. State any three characteristics of good Brand name.                                                         3  

16. “Effectiveness of motivation contributes to the success of an organisation’.How? Explain giving four reasons.                                                                                                              4   

17. Newly opened Cement Company is not in support of Decentralization. What difficulties it may face if they go for complete centralization.                                                                   4

18. Discuss any four advantages of budgetary control for business enterprises?                    4

19. Mr Anjan Sen is working as a Personal manager in a company of Kolkata.Although he is not well educated but an experienced person .Before this he has worked on this post in two large companies. His intention is always in promoting an efficient employee to a higher post and in demoting inefficient one to a lower vacant post.                                                4          

a) State what source of Recruitment is Mr Sen concentrating?
b) What are the benefits which company is depriving by using this source

20. You saw an advertisement in Television regarding a new washing powder and ordered for the purchase of the same to the shopkeeper. What will be your responsibilities as a customer so that the shopkeeper does not exploit you? State any four responsibilities.      4

21. What are the main features to be considered by the management in the planning process?  5

22. Discuss the factor that affects the determination of the price of a product or services?   5

23. “Lack of proper management results in wastage of time, money and efforts”. Do you agree with this statement? Give any five reasons in support of your answer.                         5

24. Discuss the role of SEBI towards companies, Investors and Intermediaries in the Capital Market.                                                                                                                           5

25. What is the principle of ‘Scalar Chain’? Explain briefly the utility of ‘Gang Plank’ with the help of a diagram.                                                                                                            5

26. “Interaction among people at work gives rise to a network of social relationship among employees.’ Which form of organisation the statement refers. State the merits and demerits of such form of organisation to the company.                                                                  6

OR
What do you mean by Divisional Organisational Structure? How it is beneficial for multi-

products companies.     

27. Training increases job skill while development shapes attitudes”. In the light of the statement explain the nature of relationship between training and development.


OR
Describe in brief, the various steps involved in the process of staffing
28. Discuss the steps involved in the process of communication.                                      6

           OR
Suggest the measures to be adopted by the organizations to overcome the barriers and 

improve communication effectiveness. 

29. Discuss the benefits of Personal Selling to Businessman and Customers                 6

        OR
What do you mean by Channel of Distribution? What function do they play in the 

distribution of goods and services?

30. You are the financial manager of a newly established company. The directors of the company have asked you to plan the capital structure for the company. State any six factors should consider while planning the capital structure of the company.                                       6

OR
Explain ‘Trading on Equity’. Why, when and how it can be used by a business      

organizations?
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